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1. Find all the angles between 0° and 360° which satisfy the equation
(1+2sinx)cos2x=0. (4]

. ‘y - 1 . 1 ;
© 2. Given that sin x cos y = = and cos x sin y = —, find the value of sin (x + y) and of

2 4
sin (x — y).Hence, or otherwise, find the value of x and of y between 0° and 90°. [5]
3. Evaluate [, (3 sin 2x - 2 cos 2x) dx. [5]

4. Find the range of values of k for which the line y = 2x + k intersects the curve xy +2=0
at two distinct points. : [5]

5. Find the value of a and of b for which x2 + 4x — 1 is a factor of x> + ax* — 5x + b. [5]

© 6. The diagram shows an isosceles triangle in which AB = BC = k and angle 4BC = 90°.
The mid-point of BC is D and angle ADC = x°. Show that x° = 180° — sin™! —\% . [5]

7. Solve the equation

logg (15-10x)—-1log, (1 —x) = —t (7

8. (i) Write down the first three terms in the expansion, in ascending powers of x,
of (2 + ax)®, where a is a constant. _ [3]

(i) Given that the first three terms in the expansion of (3 — bx) (2 + ax)’ are
96 + 176x + 80x2, where a and b are integers, find the value of a and of b. [5]






